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Sofia, Juliana, and Evelyn are comparing the size of their 
closets. Juliana says that her closet has the largest area 
because it’s the longest. Is she correct? Why or why not? 
Complete the chart below to support your answer.

Show your work.

Name Length 
(feet)

Width 
(feet)

Area 
(square feet)

Sofia 4 feet 4 feet 

Juliana 8 feet 2 feet

Evelyn 3 feet 5 feet

answer: __________________________________________________
__________________________________________________________

C-131 Area;
Operations

Multi-
Step
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answer: ____________________

The chart below shows the fraction of corn, beans, and 
squash that a farmer plants in his field. 

Which plant does the farmer plant the most of?

Show your work. Draw a picture to show the fraction of each plant.

Name Amount Planted

corn of the field

of the field

of the field

beans

squash

1
3
1
6
3
6

C-132 Comparing Fractions 
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answer: ____________________

Mariana is baking a cake.
The cake needs to bake in the oven for 30 minutes.
If she puts the cake in the oven at 5:43 p.m., what time will 
she need to take it out of the oven?

Show your work.

C-133 Elapsed Time
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Ella bought a photo frame that measured 3 inches by 5 inches.
Then she went to the photo store and printed a photo that 
measured 4 inches by 6 inches.

Show your work.

What is the area of the frame?		  ______________________

What is the area of the photo?		  ______________________

Will the photo fit in the frame?		  ___________

C-134 Area;
Operations

Multi-
Step
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answer: __________________________________________________
__________________________________________________________

Elijah and Amelia both ride their bikes to school.
The distance of Elijah’s bike ride is 5/ of a mile.
The distance of Amelia’s bike ride is 5/ of a mile.
Elijah says that he bikes farther than Amelia because 8 is 
greater than 6. Is he correct? Why or why not?

Show your work. Draw a picture.

5
8 5

6

C-135 Comparing Fractions 



Daily Word Problem

ANSWERSC-131 through C-135
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answer: __________________________________________________
__________________________________________________________

Elijah and Amelia both ride their bikes to school.
The distance of Elijah’s bike ride is 5/ of a mile.
The distance of Amelia’s bike ride is 5/ of a mile.
Elijah says that he bikes farther than Amelia because 8 is 
greater than 6. Is he correct? Why or why not?

Show your work. Draw a picture.

5
8 5

6

Ella bought a photo frame that measured 3 inches by 5 inches.
Then she went to the photo store and printed a photo  
that measured 4 inches by 6 inches.

Show your work.

What is the area of the frame?          ______________________

What is the area of the photo?          ______________________

Will the photo fit in the frame?	                ___________

answer: ____________________

Mariana is baking a cake.
The cake needs to bake in the oven for 30 minutes.
If she puts the cake in the oven at 5:43 p.m., what time will 
she need to take it out of the oven?

Show your work.

answer: ____________________

The chart below shows the fraction of corn, beans, and 
squash that a farmer plants in his field. 

Which plant does the farmer plant the most of?

Show your work. Draw a picture to show the fraction of each plant.

Name Amount Planted

corn of the field

of the field

of the field

beans

squash

1
3
1
6
3
6

Sofia, Juliana, and Evelyn are comparing the size of their 
closets. Juliana says that her closet has the largest area 
because it’s the longest. Is she correct? Why or why not? 
Complete the chart below to support your answer.

Show your work.

Name Length 
(feet)

Width 
(feet)

Area 
(square feet)

Sofia 4 feet 4 feet 

Juliana 8 feet 2 feet

Evelyn 3 feet 5 feet

answer: __________________________________________________
__________________________________________________________

           No, Juliana is not correct. Her closet has  
 the same area as Sofia’s closet. They are both  
16 square feet.

           Elijah is not correct. Amelia rode farther 
than him because     is greater than    .5

6
5
8

16 square feet 

16 square feet 

15 square feet 

4 × 4 = 16

8 × 2 = 16

3 × 5 = 15

Squash 6:13 p.m.

5

10
15 20 25

30 minutes

15 square inches

24 square inches

No

3 × 5 = 15
4 × 6 = 24


